[image: Graphical user interface, application

Description automatically generated]


	[image: Graphical user interface, table, Excel

Description automatically generated]



	[image: Graphical user interface, text, application

Description automatically generated]
image1.png
Dora catches
15 snowflakes.

There are 3 different types of snowflakes.
An odd amount of each snowflake lands on Dora’s hand.

How many different possible combinations are there?

Have a think m
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Plot the coordinates.

(5,2)(5,7)
(3,6)(7,3)

(3,3)(7,6)

X

—-10-9-8-7-6-5-4-3-2-1 0

1234567 8 910
Draw a straight line to join

each pair of coordinates.
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Rosie catches twice as many snowflakes as Amir.
Eva catches 5 snowflakes less than Amir. %&
Altogether they catch 47 snowflakes. *

How many snowflakes does each person catch?

Have a think m





